(5-0-0O ORNER)

FiaE (O)HsEZER
1. EELENERSH 28, B 1 FROE IS5 (LEERD)
™ 2isg & % 2 &
M
M
M
M
& &t M 100%
2. BE3INBREOEHEDS L= (8842 )
£ B £ B £ B ast
e (S] (A]
EHEHAKE
A B (E]
= [B]
7= FEfh (C]
3. 2. OHIRICHSY BFIE3IN BRDSE a% Cvl))
£ B £ B £ B ast
R E N [a]
EREAASE
==L i [e])
= (b]
DEBFEOLANEMOLARODELY [E] + [e] X 100-100= %
QEHZE NS R ) B [S] =+ [C] X100 = %
NIV R LT E 2 ETIVIE T B1MIEXTEHE,
FRISHEADERIR ( [Al=[B] )—( [al=[b] ) = P(P>0)
FEOESVHEEDYEE A,
£ B H
(REBE) & A
Ei=pdEE4
REES
EERES

() REHBICHIZO T EBFEICE I DFEREEATVDENHRATE SEHEFBIA L HXY
HBo TV m T —ERFZRATE ST, ST A7) DIRED K E,



